Cpre 381 - Homework 1 Solution
srl $1, $1, 26


jr $1



# initialize registers



addi $6, $0, 0  # lo result



addi $7, $0, 0  # hi result





addi $8, $0, 31 # loop counter



addi $9, $0, 0  # temp register



addi $10, $0, 0 # f bit


mult_loop:



andi $9, $4, 1



srl $4, $4, 1



beq $9, $0, no_add



add $7, $7, $5


no_add:



srl $11, $5, 31



and $9, $9, $11





or $10, $10, $9



andi $9, $7, 1



srl $7, $7, 1



beq $10, $0, no_f_bit



addi $11, $0, 0



lui $11, 0x8000



or $7, $7, $11


no_f_bit:



srl $6, $6, 1



beq $9, $0, no_shiftout



lui $9, 0x8000



or $6, $6, $9


no_shiftout:



addi $8, $8, -1



bne $8, $0, mult_loop



andi $9, $4, 1



srl $4, $4, 1



beq $9, $0, no_sub



sub $7, $7, $5


no_sub:



andi $9, $7, 1



sra $7, $7, 1



srl $6, $6, 1



beq $9, $0, done



lui $9, 0x8000



or $6, $6, $9


done:

a. beq $19, $20, L1
b. bne $19, $20, L1

c. slt $19, $19, $20

bne $19, $0, L1

d. slt $19, $20, $19
beq $19, $0, L1

e. slt $19, $20, $19

bne $19, $0, L1

f. slt $19, $19, $20
beq $19, $0, L1

